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G  #/k I B K 4 S 5 P FOER (RT.)
1 74 8 B HF EH SAFEE 01 N6 27.84 ( 0.56)
2 5/ 5 #MF)Il 3 T 75 TBR 01 N 28.43 ( 0.51)
3 5 4 ® W o =3} N EE 01 ING 28.77 ( 0.61)
4 /73 B E AR #M=E 4 r=oBEE 01 NG 29.05 ( 0.53)
5 17/6 B X &2 & INOT 49 01 N6 29.11 (0.54)
6 5/ 3 0 3 #L 3 7 V-7-AE T 01 1\6 29.14 ( 0.55)
1 6/ 4 ® Ii 3l 2 {MVERIKR 01 ING 29.26 ( 0.58)
8 6/2 % H 28 B T§tS s 01 N6 29.29 (0.52)
9 5/ 6 B =® An EK& B RDCEAR 01 == 29.40 ( 0.55)
10 5 1T &K E KT RBE 14 k=oE 01 /N6 29.43 ( 0.59)
11 6/7 & E fiE R#& 4 k<>2=H 01 N 29.44 ( 0.60)
12 4/ 6 & 1B TELEBE BEJIss 01 N6 29.51 (0.57)
13 /8 F F¥E KB =1E AAHBAR 01 N 29.56 (0.62)
14 /71 % W HA Ei} r-5-MYES 01 N 29.59 ( 0.54)
15 6/ 6 B R KH F® Bal-FzNhH 01 ING 29.63 ( 0.53)
16 33 K B #E SGC &% 01 N6 29.71 (0.58)
17 /75 = # & K 14 < UFE 01 N 29.77 ( 0.56)
18 6/3 f&a R AO EH KSG#2 R 1SS 01 /N6 29.90 ( 0.58)
19 4/ 4 B & h i | 27SS 01 ING 29.97 ( 0.64)
20 /1 %8 # BEEEH KSGfiE ;T 01 /N6 30.05 ( 0.58)
21 4/3 K PR KBA & JSSPFRE 01 /N6 30.09 ( 0.59)
22 6/1 ] W ;A KX AUE BT 01 16 30.29 (0.57)
23 6/5 F ZFE EER Fit O 3EMAEB 01 ING 30.33 ( 0.46)
24 5 1 ® R /I Et t-EEHE 02 16 30.42 ( 0.54)
25 42 B R EE BF HREREDCHA 02 N 30.44 (0.59)
26 5/ 8 Xl BiF FHE NEUIVESN 01 /N6 30.58 ( 0.56)
27 5/ 2 F E SHAREAKEA i p=3 01 ING 30.72 ( 0.61)
28 47 B 1 FBH K BO X2 02 ) 30.81 (0.57)
29 4/5 3/ EF Hih BN SWAHKXEHR 01 N 30.88 ( 0.59)
30 4/ 1 #BE) Bk H{E 3a/\vSC 02 ) 30.89 ( 0.55)
31 31 B OB OEL I A4 KHEH 02 INb 30.93 ( 0.51)
32 /3 K MR st&x Het {MYF7ED 02 NG 31.03 ( 0.65)
32 2/5 3 E HK EA A4 vmAE 02 NG 31.03 ( 0.53)
34 36 & E FEKk #3 WAy AL & 03 15 31.04 ( 0.60)
35 4/ 8 #WE JII EE Bmb NECGSCiEmO 02 I\E 31.10 ( 0.49)
36 34tk E EARA EHHF KSGmkE 02 I\ 31.13 ( 0.55)
37 31 K MR % EiE MV & 02 IND 31.20 ( 0.60)
38 /72 F ¥ Byn BFE J S S/\# 01 /N6 31.21 ( 0.53)
39 32 &% R EE FE ¥ik&SS 02 ING 31.32 ( 0.63)
40 2/2 #E)l tH % Y hINAEE 02 IND 31.37 ( 0.56)
41 6/8 B W /J\H BE MR E 01 16 31.40 ( 0.61)
42 3/ 5 wME) A =HZ2 nFEYELsc 02 ) 31.42 (0.52)
43 38 B IR AN I #BERRAR 02 INS 31.92 ( 0.59
44 2/ 4 ® R EER X ABEHESC 02 ) 31.97 (0.48)
45 2/ 1 B/ W g & RHESC 02 IND 31.99 (0.52)
46 /4 ® W #BHK HEE {NVEBFIDFHF 02 INb 32.08 (0.52)
47 2/3 B R OEEHH—BE aFI@mESAE 03 ING 32.13 (0.62)
47 2/ TR R FFEEZN K—LERE 02 ) 32.13 ( 0.63)
49 1/5 B XK Ak A RR M 02 INE 32.40 ( 0.53)
2/ 6 W # R4 Al RERH KR 02 /b 32.65 (0.70)
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